Btarsuse

OPERATION AND SERVICE MANUAL

CE-certified according to the

: directive for medical products
Ch
HYaDsj{,s_1 23 93/42/EEG incl. addition and
EL-00-123 EMC-directive 89/336/EQF
according to standard EN60601-
1-2:1993.
NOTE!

This chassis may ONLY be used together with CE certified Btarsusm portable
couches mounted on the chassis according to the description found in this
owner’s manual. The chassis and couch should be used for treatments and
examinations, with the patient sitting or lying down. To achieve maximum life
length of the table, do not overload.

NOTE! To avoid unnecessary risks for both the patient and the operator,
the operator MUST read through the Operation and Service Manual
thoroughly before using the product.

Postal address Phone Webb
Tarsus +46 660 842 51 www.tarsus.eu
Myrangsvagen 8 Fax Email
SE- 891 50 Ornskaldsvik +46 660 180 00 info@tarsus.se

SWEDEN



mtarsusn

Chassis

Contents

Preface

Warranty

Important information
Specification of accessories
Function descriptions

Adjusting the height of the chassis
Castors

Maintenance and cleaning
Lubrication

Description, technical documentation
Change of components

e The hydraulic pump
e The electric motor

mtarsusnm



.t a r S 'l.l S. 2 Chassis

Preface

Welcome as owner of a Tarsus chassis, produced by our production company
Sjobloms/Tarsus. We hope that you will be pleased with this quality product. Your
satisfaction is our goal. If a problem arises, you are of course always welcome to
contact our service department, and our expert staff will assist you to solve the
problem in every way needed.

This Operation and Service Manual contains all needed information for usage,
maintenance and service of the product, as well as instructions on how to exchange
spare parts. The Operation and Service Manual is being up-dated on a regular basis
when needed, and when the product is being modified. Future changes in the manual
may therefore occur, for which we make a certain reservation.

Warranty

10 years warranty against defects in materials, construction and production. 2 years
warranty on motors and hydraulic pumps. The warranty is void if the product is
improperly used or altered. The warranty does not include normal wear and tear. The
warranty does not include damage or defect caused by accident, misuse or abnormal
working conditions. It is important that needed service and maintenance is executed
according to instructions in this manual.

Important information
The Operation and Service Manual must be read thoroughly before using the
product, to avoid unnecessary risks for both patient and operator.

The Operation and Service Manual contains warnings, noting where risks for
personal injury may occur. These warnings must be noticed and respected.
A warning triangle is shown where very important information could be found.

A

Warning triangle!

mtarsusnm



mtarsusn 3 Chassis

Specification of accessories

Pos Article

Lifting arms

Motor / hydraulic pump
Power supply (for the electric model)
Protective plastic box
Frame for massage couch
Attachments

Handle

Hook lock

Lockable castors

10 Paper dispenser

11 Transportation castors

12 Foot pedal

O©COoONOOPAWN-

mtarsusnm



mtarsusn 4 Chassis

Function descriptions
Adjustment in height

Hydraulic adjustable
Raising the chassis

Use your foot to pump the long
side of the pedal. Repeat until
desired height has been
reached.

Lowering the chassis

Press down the short side of
the pedal, until desired height
has been reached.

A

Warning! Make sure that no
unauthorized persons have any part of
their body within the working range of
the examination table, since there is a
risk of crushing between the lifting
arms and the plastic box (see arrow).

mtarsusnm



mtarsusn 5 Chassis

Electrically adjustable

Plug in
The plug shall be connected to a earthed 230V-point. The chassis is now
ready to be used.

On the electrically adjustable chassis, the height is adjustable by means
of a foot control. The left button raises the table and the right button
lowers the table.

Warning! Make sure that no
unauthorized persons have any part of
their body within the working range of the
examination table, since there is a risk of
crushing between the lifting arms and the
plastic box (see arrow).

mtarsusnm



mtarsusn 6 Chassis

Central locking castors
Locked castors

Unlocked cstors

_HNH

Uhlocked castors Locked castors

mtarsusnm



mtarsusn 7 Chassis

Mounting the massage couch

Fold in the legs of the couch. Unscrew and adjust the attachments
Make sure the headrest / face aperture is according to the width of your couch, by
positioned as on the picture. using a 13mm key.
Note! Make sure that the positions of the
Adjust the chassis to its highest position. attachments, in the four corners, are similar
on all sides.

3

Make sure the middle of the couch (A) is The level of tightness of the couch onto the
direct above the middle crossbar of the chassis can be adjusted by screwing or
chassis (B) unscrewing the hook.

It is always best to start with the hook
screwed halfway.

mtarsusnm



mtarsusn 8 Chassis

Lift the handle upwards a little at the same Place the hook between the crossbar and

time as placing the hook between the white the bolt.
strut and the wooden board. When done correctly it should look like

picture 8 and 9

10 N

Lift the handle upwards and hook it in
position, see picture 11 and 12.

If it is almost impossible to lift the handle
upwards or it the couch doesn’t seem to be
fastened properly; adjust this by
unscrewing or screwing the hook

12

Done!

mtarsusnm



.t a r S 'l.l S. 9 Chassis

Maintenance and cleaning

The table basically requires no maintenance, but routine checks are to
be carried out in order to secure full function.

A

Omission of the following routine check-ups may expose the patient to
unnecessary risks and may reduce the life length of the table. Therefore,
check all the functions and parts of the table on a regular basis.

Check following:
o Any jarring sound that may occur
o The function of the gas-springs
o The locking mechanism of the castors
o Damages on the electric cables (if the table is electrically
adjustable).
o The function of the motor or the hydraulic pump

mtarsusnm



mtarsusn 10 Chassis

Lubrication
Lubrication of all moving parts should be carried out every sixth month,
according to schedule

Use lubricating oil for the four
lifting arms (see marked
areas).

Lifting arm joint

Make sure that lubrication is
applied around the lifting arm
joints, to eliminate any jarring
sound that may occur. Wipe
off overflowing oil.

Lubricate the lifting arm
attachments.

Lock the castors so that the
examination table does not
move. Flip the couch gently
sideways (have someone
help you), so that you may
lubricate the link arm
attachments.

If extensive maintenance is
necessary, please contact
Tarsus.

Link arm attachments

mtarsusnm



.t ar SUSI " Chassis

Description, technical documentation
Electrically or hydraulically adjustable in height.

Chassis

All-welded chromium-plated or white epoxy coated, with motor or hydraulics as well
as link arms covered under the plastic box.

Hydraulics
Rémheld Nr 8921-500-406

Motor
Linak® LA31

Castors

e A pair of castors for transportation. Standard.: 2 50mm castors.
e 4 |ockable castors, 75 or 150 mm central looked thread protected castors

Measure

Length: 195 cm, width: 70 cm.
Adjustable in height between: 45-81cm.
Width 42 cm at the top, 61 cm between the legs.

Weight
Of the chassis: 33 kg.

Maximum work load
180 kg

mtarsusnm



mtarsusn 12 Chassis

Change of components
Changing the hydraulic pump

A

Warning!

Note that the chassis will fall to its lowest position when the hydraulic pump is
removed. This causes a risk for injury by crushing. Therefore the chassis MUST be
placed on the side before changing the hydraulic pump.

e e e,

| i I .
M8-nut with bolt .i!
L%

Have someone help you move the chassis to its side.

Remove the M10-nut on the pedal.

Remove the M8-nut on the pedal.

Remove the M8-bolt by using a hammer, plastic or metal.

Remove the M12-nut on the hydraulic pump and remove the M12-bolt.
Change the hydraulic pump. Mount in reverse order.

ookrwN=~

mtarsusnm



.t ar S'l.lSl 13 Chassis

Changing the electric motor

A

Warning!
Before changing the motor, the power-supply MUST be switched off and unplugged.

Changing the lifting motor, LINAK LA31

A

Note that the chassis will fall to its lowest position when changing the motor. This
causes a risk for injury by crushing. Therefore the chassis MUST be placed on the
side before changing the motor.

Have someone help you move the chassis to its side.
Remove plug from the power supply CB09

Remove the M10-nut on the pedal.

Change the motor

Mount in reverse order.

aORrLON=

mtarsusnm




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee575284e8e9ad88d2891cf76845370524d6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f0030028fd94e9b8bbe7f6e89816c425d4c51655b574f533002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c9069752865bc9ad854c18cea76845370524d521753703002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f300290194e9b8a2d5b9a89816c425d4c51655b57578b3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


